Solving Problems in 3 Dimensions

____________________________________________________________________________

1. A radio antenna lines due north of Sam’s house.  Sam walks to Elena’s house, a distance of 1200 m, 
[image: image14.png]Q«D Use (osne Lo

L sde EF=13m " in ADEE Yo Lrd
Hen Sde E6 = GF = 5.85km Sde 5, )
€ =(1LS) +(5.55
@ Use. Sine laws in ADEF (162) )
- b o -2 (I6-3)(5%5)
@ﬁna\ Sde EF w«+\ s b
Cosne. o 5'mE = S”n;Z 62"- 223.45
— () .
2 z 2z e o
d= le "+ 1b:5 - 20e) (l65)G@sU2 13 Sinf = leSnz” E=is.|
= 25 + ZA2.25 - 525 sz 0. -3 (5) use Hon i ADGT
1 -
d'= 525.25 -~ S5 @suz® SnE = 64]s0s Fo G AD:
2 . . - 1.5
d = [35.%5L95s E = bé Fan D = 2

iS.\
d: [I.FEm Fina! Angwer —> \Ab_‘—:e“ —



east of north.  From Elena’s house, the antenna appears due west, with an angle of elevation of 
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.  Determine the height of the antenna, to the nearest metre
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2. A surveyor is on one side of a river.  On the other side is a cliff of unknown height that she wants to measure.  The surveyor lays out a baseline AB of length 150 m.   From point A, she selects point C at the base of the cliff and measures 
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to be 
[image: image4.wmf]°

51

.  She selects point D on top of the cliff directly above C and measures an angle of elevation of 
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.  She moves to point B and measures 
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3. Justine is flying her hot-air balloon.  She reports that her position is over a golf course located halfway between Emerytown and Fosterville, at an altitude of 1500 m.  Fosterville is 16.0 km east of Danburg, and Emerytown is 16.5 km from Danburg, in a direction 
[image: image8.wmf]°

42

south of east.  What is the angle of elevation of Justine’s balloon as seen from Danburg, to the nearest degree?
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